Socials 10 – Mrs Bronson                                                             Name: __________________________
Chapter 2:  Building A Nation

Quiz 1 (b)
                                                                                                                      Score: _______ / 43

True or False……    ____ / 25
1.
Responsible gov’t ended up being an economic advantage for Britain because the colonies

  
became Britain’s economic partner instead of Britain’s economic responsibility.
____

2.
The Rebellion Losses Bill caused some to feel betrayed because it rewarded treason
____

3.
The Rebellion Losses Bill tested responsible gov’t and failed
____

4.
After the Rebellion Losses Bill, angry businessmen published their plan for the U.S.


to take over Canada
____

5.
It was not an advantage to link Canada with the Maritimes because BNA had no


ice-free shipping ports during the winter months
____

6.
Canadians were not worried about the U.S. taking over Canada
____

7.
The American Civil War gave the U.S. a military  advantage because the Northern


U.S. army had more soldiers  than BNA’s combined population
____

8.
Louis-Joseph Papineau (leader of Lower Canada Rebellion) led the Parti Rouge
____
9.
Canada East politicians supported Representation by Population in the 1840s
____

10.
George Brown fiercely opposed the concept of Representation by Population
____

11.
John A. Macdonald led the Clear Grits political party in Canada West
____

12.
The British government favoured Confederation and acted on it immediately
____

13.
Some politicians and businessmen felt Confederation was a bad idea
____

14.
Canadian politicians dreamed of uniting BNA into a republic like the United States.
____

15.
French-speaking citizens of BNA supported the idea of Confederation.
____

16.
The Maritime colonies did not support the idea of Confederation
____

17.
The Maritime colonies felt that they had a lot in common with the United Canadas
____
18.
The British government and the Canadian governors thought that responsible gov’t


 in the colonies would create economic problems on both sides of the Atlantic.
____

19.
The economic policy of mercantilism made Britain rich for almost many years
____

20.
Britain took raw materials from BNA and manufactured them for profit
____

21.
Mercantilism ended when Britain created the Corn Laws
____

22.
Britain cancelled the Corn Laws in favour of free-trade
____
23.
Part of the reason why Canada went into an economic depression in the 1840s was


because there were no factories to manufacture the natural resources
____

24.
Responsible gov’t was limited after Durham because none of his successors 


completed supported the concept
____
25.
Lord Durham was charged with the task of putting responsible gov’t in place
____
